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QUESTION 1

When connecting an Application Server running on a VSI to a database server running on Bare Metal in IBM Cloud,
which of the following is the recommended connectivity option at the lowest cost?

A. Via a Direct Link VPN

B. Over the IBM Cloud private network
C. Through the public network

D. Using VPC VPN

Correct Answer: B

QUESTION 2

Which IBM Cloud servers can run AlX and IBM i?
A. Reserved Virtual Servers

B. Dedicated Virtual Servers

C. Power Systems Virtual Server

D. Bare Metal Servers

Correct Answer: C

QUESTION 3

Which of the following IBM Cloud services is integrated with Certificate Manager?
A. IBM Cloud for Power Solutions

B. IBM Bare Metal Server

C. Red Hat OpenStack on IBM Cloud

D. IBM Cloud Kubernetes Service

Correct Answer: D

QUESTION 4

A retail company has issued an RFP to transform an existing on premise publicly accessible application to Cloud Native
using IBM Kubernetes Service and Cloud Internet Services. The customer brought up an additional non-functional
requirement around performance at the edge. It is explained that the solution will be able to accommodate the concern
without additional service.
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How is this possible?

A. IKS can scale across the globe

B. IKE provides a built in Content Delivery Network
C. Cloud Internet Service has Page Rules

D. Cloud Internet Server has a 32TB Network

Correct Answer: D

QUESTION 5

Which VMware application mobility technology seamlessly extends on-premises data center networks into IBM Cloud?
A. VMware HCX

B. VMware NSX

C. VMware vSphere

D. VMware Horizon

Correct Answer: A
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